


The angle of elevation of a cloud at
C from a point (P), H metres above
the surface of a lake is 30°. The
height of the cloud from the
surface of the lake is 2H metres.
Let © be the angle of depression of

the reflection of the cloud in the
lake from the point P.

What is the value of 6?7

il & ¥ag ¥ H Al R (& fdg
(P) 9 C W ¥1&d & I=G- DIV 30°
2| 3T &) 9ag 9 95 & SHalg 2H

~ #HeX 8| WF oifolg efdg P & et A
e B yfafds &1 @819 T 2|
0 PT HIF FT 8?7
(a) 30°
(b) 45°

\_jeT50°

(d) Cannot be determined due to
insufficient data




The volume of a cuboid is 3600
cubic cm. The areas of two
adjacent faces are 225 squares cm

and 144 square cm. What is th
s A n A3 - \/O{MM a:'lea of the 1ther adjacent face? ’
|72 ? RG] m 3600 T :;fﬁr ;}:
o AT~ B 225
)SX‘/Q\%B"}SG: 3R 144 T AW §| A IS HAD
BT A T 87

ﬂ /—_WMJO square cm
S

(b) 360 square cm
(c) 320 square cm

(d) 300 square cm



Let N be the least number which
when divided by 15, 25, 35, 40 and
42, the remainder in each case is 1
and N is divisible by 271. What is
the(Ssum of digits of N:

9 ST N Bl 9@ § o
15, 25, 35, 40 3R 42 ¥ fofor
&1 W TS Rufd § 99w 1 iR N,
271 ¥ fOSy 8| N @& 3dl &7 AT
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What is the LCM of (8x° + 80x2 +
200x) and (4x* + 16x° - 20x2?)?

B2+ 80x2 + 200x) 3R (4x* + 16x3 -
20x2) BT LCM FT 87

y: L~Ta) 8x%(x + 5 (x - 1)

== )((b] 8x2%(x - 1)2 (x + 5)
? K_(’)t"'s) X (c) 4x2(x - 1)2 (x + 5)

X (d) 4x2(x + 5)2 (x - 1)
te (rues) & )
Yo (245) (x-) %m%11%%")
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In a 1500 m race, if vehicle P gives
vehicle Q a start of 200 m, then

vehicle P wins the race by 8 sec.

Alternatively, if wvehicle P gives

vehicle Q a start of 400 m, the

race ends in a dead heat. How long
e e —— T

does vehicle P take to run 1500

m?

1500 #lex @ <€ # Ife aE+ P,
qres Q HY 200 HIeX P YHIT el &,
dr 9189 P, 8 Uds ¥ QIS Siid WIar & |
dBfeqd ®Y ¥, A 9189 P, 989 Q B
400 HieX B FOHAT ol 8, A s @

o€ 8¢ ¥ gHTT B 2| 989 P @l
1500 #IeX # fdaar w=g o

b8
.‘) ”L )I;td;Asec (b) 45 sec

(c) 40 sec (d) 60 sec
t"f'



If tan2g = 3 + Q2, then seca + tan3a
coseca = 7

I tan2a = 3 + Q2, then seca +
tan3a coseco = ?

(a) (3 + Q2)%/2 (b) (7 + Q2
(c) (5- Q12 (g4 + QY2

o(=Yys°
Q=-2



In AABC, P and Q are points on AB
and BC, respectively, such that PQ

|| AC. Given that AB = 26, PQ = 7
and AC = 10 find the value of AP.

st AABC ¥, P 3R Q, AB 3R BC
¥ pae. fig € W0 f5 AB || BC B
T¢ AB = 26 94, PQ = 7 ¥4I, 3R AC
= 10 99 8, @ AP &1 AM TG PIfo7 |

(a) 7.1 y.s

(c) 18.2 (d) 16.4

3 X2



In a shop, a discount of S5 percent
is provided, and if the total

payable amount after discount is
more than Rs. @ then an
additional discount of 10 percent

is provided. Determine the final
amount to be paid (in Rs) by a
customer, if he buys five products
each of price Rs. 500.

Uh §HM H 5 Ufaed &1 8¢ USH &
O 2, 3R AR ge P € FaI I
gRIAT 2,000 T4 ¥ RS B, @ 10
yfaerd o faRs 8c ueE @ STl
gl UP UED R YIaH & S arefl
sifom R (P #) FeiRa &, afk
ﬁﬂﬁﬂésoomﬂfﬂ$tﬁﬂﬂﬁ
|

) Rs. 2,500 X Rs. 2,225.5

)() Rs.2,375.5 | (#fRs.2,137.5



The pie chart given below shows
the number of cars sold by 8
different companies. The total
number of car sold by all these 8
companies are 10,000. Number of
cars sold by a particular company
is shown as a percent of total
number of cars sold by all these 8
companies.

Which of the following statement
is correct?

I. The average number of cars
sold by company B, F and H
are 100,

I1. The ratio of number of cars

sold by A to the number of
cars sold by E are 4 : 5.



XI. HUI B, F 3R H gRT 941 5 BRI
P! 3T ST 100 2|
)( II. A ERT 991 g BRI & G BT E
gRT 99 g BRI DI H&T | AT
4:5%¢|
(a) Only I

(b) Only II

(/p( Neither I nor II

(d) Both I and II



Find the value of the following
expression.

fforRad <o &1 919 Td DI |

S(sin%0 + cos*0) + 3(sin® 0 + cos®0) +
19sin20 cos20

A8 (b) 5

@ (c) 6 (d) 7
O
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(a) Rs. 650

\_Is¥rRs. 600

(b) Rs. 540
(d) Rs. 605

A discount of 20% is given for the
purchase of two books by a
bookseller and a discount of 25%
offered if a cust buys more
than two books. é lﬁnfpdiscuunt is
being offered to a e customers

on purchase of one book. An
additional 5% discount will be

given to students. Sghan, a
student of M.Com. in college,

bought a book for Rs. 513. What
was the marked price of the book?

Ueh fbae fasbar gRT &1 Q&ial @
@IE W 20% B BE & W 8 3R

S|

e & WY | diciel § THPMH
P UP B 984 1 513 39 § TH
fare @Y | fdare &1 sifdd qea @n
or?



Three circles of radius 7 cm are
kept touching each other. The
string is tightly tied around these
three circles. What is the length of
the string?

7 94 B arel A9 99 ta—gEy 9l
B e 8| b aR dFl gal & aRi 3R
HAP] ET AT 3| S AR Pl 418
T B?

(a) 42 + 7p cm

(b) 21p + 14 cm

\/rsﬂ'z + 14p cm

(d) 7+ 14p cm

Lfi{)rltm- ' wff( w




The factors of x?2 4y 4y - 4xy -

- 8 are:
2y 4)x

I i i bu

(224-4) o2yt



ABCD is a square and AMAB is an
equilateral triangle. MC and MD
are joined. What is the degree
measure of /MDC?

ABCD U@ 97 2 3R AMAB Ud §¥dTg
frrst 81 Mc 3R MD ier ST )
/«MDC & f&ft A9 a7 87

M

A B
Dg/’r( "
(a) 78° (b) 60°
(c) 65° d)T75°




7 is added to a certain number and
the sum is multiplied by S. The
product is then divided by 3 and 4

. is subtracted from the quotient. If

’)U}) S —'L‘ - I‘G the result comes to 16, then what
3 is the original number?

7 @ U fAf¥ad S #§ Srer o €,

99 AT B 5 9 o fHar mar 8, S9

TOH B 3 | AT fRAr mar S8R

HThel ¥ 4 ST Ol 81 39 YeR
Ife SR 16 B, O IRAfdd G&AT =T

7
(a) 3 (b) 1

T 5 ( (d) 4



y = 1++/3 ++/4 , then the value of
2y* - 8y3 - 6y2 + 28y - 84 is:

= 1+y3 +4, ar - 8y3 -
REY-3) 42803 [ Gl sar saor e ¢ 25\"
,_ W (b) 8043
(('3-2)—?)-&_3 = ; :

(c) 203  (d) 6043
‘QU@E‘S tan T
<’ Y= 134
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Three candidates P, Q and R
participated in an election. P got
35% more votes than Q, and R got
15% more votes than Q. P
overtook R by 2,412 votes. If 90%
voters voted and no invalid or
illegal votes were cast, then what
was the number of voters in the
voting list?

a9 S™I<aRl P, Q, R 7 Ud 919 H

AT forar| P & Q & 35% 3iftid #a

U B0 81 R @ Q ¥ 15% 3If¥% #a

mz‘rc‘f%‘l P, R & 2412 #al 9
éﬂT% 90% HASIarR A

Hﬁiﬁﬁmr, PIg HT AT Y

dic 98 ST T, A HaQH gdar #H

AAQIdarl & AT ar ofi?

46,900  (b) 42,800

(c) 42,210  (d) 48,500



If abc = 5, what is the value of

(

1

'ﬂﬁabc=5,?ﬁ

+
l1+a+b* 1+b+5c? C

1

1 1

+

]

5
®T 79 T 87 @
e

(d) (a+b+c)

(a) 5

(c) 1/5

1+=+a™

1 1

+

1+a+b"+1+b+5c'1 C

1+—+a™"



If the average of s numbers is r*

\ | | and the average of r numbers is s4,
} S then find the average of all r + s
O numbers?
( ) AR s Wt B oed o § oK ¢
S A HE BT ol st %, A Wi r + s
W BT AT S DTG |

)\3 S% (a + §2 - r8)
3 Y(RRA4S) %ﬁf

j\'\'s (c) 2 + s2

(d) rs(r? + s2)



A pyramid has an equilateral
triangle as its base, of which each

Qéf side is 8 cm. Its slant edge is 24
cm. The whole surface area of the
pyramid (in cm?) is:

U fRIAe &1 IR e gHag By
g, e vd% 4o 8 9 8| s
\1 fover feRr 24 9 8| fRifie &

U Hyol g dawe (Y #) #:
(a) 1643 +24./35

(b) 123 +24.35

ﬁ x &L +3X“ixg A qﬁ{ (c) 243 +36+/35
_q- ‘y/le«ﬁ +48./35



If the highest common factor
(HCF) of x and y is 15, then the

HCF of 36x2 - 81y2? and 81x2 - 9y?
is divisible by .
e x IR y & HEGH HHUGAD
(HCF) 15 €, dl 36x2 - 81y2 3IR 81x2
— 9y2 3T HCF ¥ fawrsy 21

135 (b) 120
(d) 90




The probabilities of solving a
problem by three students A, B and
are 3/7, O5/9 and 1/5,

P(3)=MAIBIAC );m W o
- -\-i.x H—XL' & B C gNT U |9dl

ﬁmmﬁﬁmman

r ﬂ) g‘ 5/9311?1/%5%|mw$33r€rvrﬁ
& aif¥raear &:

- ,_‘% (a) 155/315 (b) 64/315
P@) 3| ﬂzsums (d) 32/315



Find the standard deviation of the

5' D'::-'- Vw\MQ following data 3, 5, 4, 7 (rounded
off to two decimal places).

V gy - frfeRaa <e1 3, 5, 4, 7 @1 AD

\/--Z( do ﬁwam%@‘rwwﬁw

L‘-‘——’__
Y) @ (b) 3.21
2 (A (c) 4.12 (d) 2.45




The cost of 3 kg of rice is Rs. 180.
The c of 8 kg of rice is equal to
of 5 kg of pulse. The cost of
g of pulses is equal to that of 2
g of tea. The cost of 3 kg of tea is

equal to that of 6 kg of walputs.
What is the cost (in Rs) of 10 kg of
walnuts?

3 fuT amae &1 o9 180 $UY & 8
fduT araa &1 qou 5 fHur Sl & qo
o &R ' 15 fur <@t o1 o 2

(a) 2400 (b) 3200
(c) 2800



If the exterpal angle of a regular
polygon i @ then the number of

diagonals in this polygon is:

T T W9 I8YS BT TAD &I DI




